
Pipe Cleaning unit 3S

No. 72003

dated: 06/15

1

www.rothenberger.de


Pipe Cleaning unit 3S

No. 72003

dated: 06/15

Item no. Description Article no. Quantity

1 frame for type 3S H97858 1

2 spiral container cpl. H97859 1

2.1 spiral container H96200 1

2.2 cap H96245 1

2.3 screw socket M30x2 H96244 1

2.4 bearing washer H96277 1

2.5 pin H88593 2

3 mounting bracket H97860 1

4 driving shaft with catch H97861 1

4.1 bushing H97865 1

4.2 driving shaft H97869 1

4.3 catch H96209 1

4.5 washer H97870 1

5 KEE-CLAMP NR.26-4 H97857 1

6 bearing case cpl. H96274 1

7 pin 6x22 H88474 1

8 rubber pad H98256 4

9 handle H85385 1

10 handwheel H97849 1

10.1 handwheel H97850 1

10.2 safety cap H88330 1

10.3 set screw M6x6 DIN 916 H98266 1

10.4 handle 10mm H97827 1

11 spirale d=13mm x 15m 72016 1

12 set screw DIN913 M 6x25 H88547 2

13 washer A 6,4 DIN9021 H98351 2

14 hexagon nut M6 DIN 985 H88501 2

15 label silberf. matt H93545 1

16 knurled screw M8x20 H98246 1

17 label H93547 1

IMPORTANT! To assure safety and reliability, repairs, maintencance and adjustment must be preformed by ROTHENBERGER

Kelkheim or authorized Service-Centers. Always use Original-Service-Parts. Order your accessories and spare parts

from your specialist retailer or using our Service After Sales hotline

 

 

Powered by TCPDF (www.tcpdf.org)

2

http://www.tcpdf.org
www.rothenberger.de

